Award Worksheet

Purchasing Entity: Shelby County Schools

Bid ID: 2398

Awarded:

Run Date: 9/18/17 2:23 pm

Description: Bid for Maintenance Warehouse- Hardware Supplies

Hardware-#806484-TJ

Bids Due By: Bids Sealed Until: 09/15/2017 10:30 AM 09/15/2017 10:30 AM

Effective Start Date:

Effective End Date:

Category:

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Accredited Lock Supply	·	·	22,170.0000
BRIGHTER DAYS AND NITES	45 days	15 days	41,628.0000
COLONIAL HARDWARE	14-28 DAYS	30 DAYS	28,176.0000
Dugmore & Duncan	3-4 weeks for delivery	Net 30 days	23,500.0000
Townsend Door & Hardware		Net 30	20,740.0000

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted 1	items found fo	r the selected criteria. LD00656>Key Blank,Sargent 11-6275 RA Keyway No Substitute Manufacturer & Part Number:	1 - Count Sargent	Accredited Lock Supply	0.8000	1,200	960.00			
		Quoted as Spec'd: Yes		Product Number: 11-6275 RA						
		LD00656>Key Blank,Sargent 11-6275 RA Keyway No Substitute Manufacturer & Part Number:	1 - Count Sargent - 11 X6275 R/	Dugmore & Duncan	0.8500	1,200	1,020.00			
		Quoted as Spec'd: Yes	· ·	Product Number: 11 6275 RA						
		LD00656>Key Blank,Sargent 11-6275 RA Keyway No Substitute Manufacturer & Part Number:	1 - Count Sargent - 11-X6275 R	Townsend Door & Hardware	0.8600	1,200	1,032.00			
		Quoted as Spec'd: Yes	J	Product Number: 11-X6275 RA	A					
		LD00656>Key Blank,Sargent 11-6275 RA Keyway No Substitute Manufacturer & Part Number:	1 - Count Sargent - 11 6275 RA	COLONIAL HARDWARE	0.9800	1,200	1,176.00			
		Quoted as Spec'd: Yes	-	Product Number: 11 6275 RA						
		Response Item Payment Terms:	: 30 DAYS							
		Response Item Notes: 14-28 DA	YS							
		LD00656>Key Blank,Sargent 11-6275 RA Keyway No Substitute Manufacturer & Part Number:	1 - Count Sargent - 11-6275 RA	BRIGHTER DAYS AND NITES	2.5900	1,200	3,108.00			
		Quoted as Spec'd: Yes		Product Number: LD00656						
		Response Item Payment Terms:	: Net 15							
		Response Item Notes: 4 - 5 wee	ks lead time							

Line Lo Number Cod		Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award			
2	LD00635>Key Blank, Must Be #7A7B084 Code Pattern,Sargent Signature 10-S6275 RB, No Substitute Manufacturer & Part Number:	1 - Count Sargent	Accredited Lock Supply	2.2500	1,300	2,925.00						
	Quoted as Spec'd: Yes		Product Number: 10-S6275 RB									
	LD00635>Key Blank, Must Be #7A7B084 Code Pattern,Sargent Signature 10-S6275 RB, No Substitute Manufacturer & Part Number:	1 - Count Sargent - 10-S6275 F	Townsend Door & Hardware	2.2600	1,300	2,938.00						
	Quoted as Spec'd: Yes	Jaigent - 10-30273 1	Product Number: 10-S6275 RB									
	LD00635>Key Blank, Must Be #7A7B084 Code Pattern,Sargent Signature 10-S6275 RB, No Substitute	1 - Count	Dugmore & Duncan	2.8000	1,300	3,640.00						
	Manufacturer & Part Number:											
	Quoted as Spec'd: Yes		Product Number: 10 S6275 RB	7A7B084								
	LD00635>Key Blank, Must Be #7A7B084 Code Pattern,Sargent Signature 10-S6275 RB, No Substitute	1 - Count	COLONIAL HARDWARE	3.7500	1,300	4,875.00						
	Manufacturer & Part Number:	Sargent - 10 S6275 F	RB									
	Quoted as Spec'd: Yes		Product Number: 10 S6275 RB									
	Response Item Payment Terms	Response Item Payment Terms: 30 DAYS										
	Response Item Notes: 14-28 Da	Response Item Notes: 14-28 DAYS										
	LD00635>Key Blank, Must Be #7A7B084 Code Pattern,Sargent Signature 10-S6275 RB, No Substitute	1 - Count	BRIGHTER DAYS AND NITES	6.0000	1,300	7,800.00						
	Manufacturer & Part Number:	Sargent - 10-S6275 F	RB									
	Quoted as Spec'd: Yes		Product Number: LD00635									
	Response Item Payment Terms	:: Net 15										

Response Item Notes: 4 - 5 Weeks Lead time

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
3		LD00636>Key Blank, Sargent Signature #10-6275 RC, Must be #7A7B084 code pattern, No Substitute Manufacturer & Part Number:	1 - Count Sargent	Accredited Lock Supply	2.2500	1,500	3,375.00			
		Quoted as Spec'd: Yes		Product Number: 10-6275 RC,						
		Sargent Signature #10-6275 RC, Must be #7A7B084 code pattern, No Substitute	1 - Count	Townsend Door & Hardware	2.2600	1,500	3,390.00			
		Manufacturer & Part Number:	Sargent - 10-S6275 R0							
		Quoted as Spec'd: Yes		Product Number: 10-S6275 RC	<i>,</i>					
		LD00636>Key Blank, Sargent Signature #10-6275 RC, Must be #7A7B084 code pattern, No Substitute Manufacturer & Part Number:	1 - Count Sargent - 10 S6275 R0	Dugmore & Duncan	2.8000	1,500	4,200.00			
		Quoted as Spec'd: Yes Product Number: 10 S6275 RC 7A7B084								
		LD00636>Key Blank, Sargent Signature #10-6275 RC, Must be #7A7B084 code pattern, No Substitute	1 - Count	COLONIAL HARDWARE	3.7500	1,500	5,625.00			
		Manufacturer & Part Number:	Sargent - 10 S6275 R0							
		Quoted as Spec'd: Yes		Product Number: 10 S6275 RC	;					
		Response Item Payment Terms:	30 DAYS							
		Response Item Notes: 14-28 DA	YS							
		LD00636>Key Blank, Sargent Signature #10-6275 RC, Must be #7A7B084 code pattern, No Substitute Manufacturer & Part Number:	1 - Count Sargent - 10-6275 RC	BRIGHTER DAYS AND NITES	6.0000	1,500	9,000.00			
		Quoted as Spec'd: Yes		Product Number: LD00636						
		Response Item Payment Terms:	Net 15							
		Response Item Notes: 4 - 5 Wee	ks Lead Time							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
4		LD00658>Lock,Classroom Sargent Lever Mortise Lock, Reversible,Sargent # 8237,WTL-26D,RH or LH,No S	1 - Count	Townsend Door & Hardware	223.0000	60	13,380.00			
		Manufacturer & Part Number:	Sargent - 8237 WTL 2	6D						
		Quoted as Spec'd: Yes		Product Number: 8237 WTL 26	6D					
		LD00658>Lock,Classroom Sargent Lever Mortise Lock, Reversible,Sargent # 8237,WTL-26D,RH or LH,No S Manufacturer & Part Number:	1 - Count Sargent - 8237 WTL 2	Dugmore & Duncan	244.0000	60	14,640.00			
			ourgent ozor witz	Product Number: 8237 WTL 26	SD.					
		Quoted as Spec'd: Yes		Product Number: 6237 WTL 20						
		LD00658>Lock,Classroom Sargent Lever Mortise Lock, Reversible,Sargent # 8237,WTL-26D,RH or LH,No S	1 - Count	Accredited Lock Supply	248.5000	60	14,910.00			
		Manufacturer & Part Number:	Sargent							
		Quoted as Spec'd: Yes		Product Number: 8237 WTL-20	6D RH					
		LD00658>Lock,Classroom Sargent Lever Mortise Lock, Reversible,Sargent # 8237,WTL-26D,RH or LH,No S	1 - Count	COLONIAL HARDWARE	275.0000	60	16,500.00			
		Manufacturer & Part Number:	Sargent - 8237 WTL 2	6D RH						
		Quoted as Spec'd: Yes		Product Number: 8237 WTL 26	6D RH					
		Response Item Payment Terms	: 30 DAYS							
	Response Item Notes: 14-28 DAYS									
		LD00658>Lock,Classroom Sargent Lever Mortise Lock, Reversible,Sargent # 8237,WTL-26D,RH or LH,No S	1 - Count	BRIGHTER DAYS AND NITES	362.0000	60	21,720.00			

								Pending	Pending	
Line	Lot					Response		Award	Award	Pending
Numbe	r Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award

Product Number: LD00658

Manufacturer & Part Number:

Sargent - 8237

Quoted as Spec'd:

Yes

Response Item Payment Terms: Net 15

Response Item Notes: 4 - 5 Weeks Lead Time